CS3/586 Introduction to Databases – Fall 2009
Homework 5 Due Nov 19
1.  [24] Write YES after any of the following that implies that a schedule is not serializable, NO otherwise.
a) Not conflict serializable  
b)  No cycle in the precedence graph

2. [26] For each schedule, tell me whether you can prove it is or is not serializable.  
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3. [25] Consider the following log.
  
[image: image2]
Show all the actions of a recovery manager after a crash
4. [25] Show the actions that must be taken to abort T1, given the following log.
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T1 A update, ‘xyz’, ‘xy’


T2 B update, 1, 3


T2 commit


T3 C update, 3, 4


T1 A update ‘xy’ ‘ab’


CRASH














T1 A update, ‘xyz’, ‘xy’


T2 B update, 1, 3


T2 commit


T3 C update, 3, 4


T1 A update ‘xy’ ‘ab’


T1 ABORT





T1: R(A), W(A)                             R(C),W(C)


T2:                             R(B), W(A)


T3:                    R(C),                                       W(B)





T1: W(A)                             R(D),R(C)


T2:                    R(B), W(A),                             W(D)


T3:           R(A),                                       R(C)





a)





b)








